						


Hypothesis test for the population mean: Z test 
A leasing firm claims that the mean number of miles driven annually, [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?%25nv8], in its leased cars is less than [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?20073]miles. A random sample of [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?20]cars leased from this firm had a mean of [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?2010%3A]annual miles driven. It is known that the population standard deviation of the number of miles driven in cars from this firm is [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?25%3B3]miles. Assume that the population is normally distributed. Is there support for the firm's claim at the [image: http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?3%2D2]level of significance? 
Perform a one-tailed test. Then fill in the table below. 
Carry your intermediate computations to at least three decimal places, and round your responses as specified in the table. (If necessary, consult a list of formulas.) 
















The null hypothesis  H0


The alternative hypothesis H1

The type of test statistics 
				Z
				T
				Chi square
				F
The value of the test statistic (round to at least three decimal places)

The critical value at the 0.1 level of significance (round to at least three decimal places)
[bookmark: _GoBack]Can we support the leasing company’s claim that the mean number of miles driven annually is less than 13,340 miles? Yes or No
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